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1. Find the roots of the quadratic equation(15x2 —15x)=0

(i) (4,-3) (i) (1,0) (i) (2,0) (iv) (2,-1) (v) (4,-1)

2. Find the roots of the quadratic equation(24x2 —31x+10)=0

(i) (z §) (ii) (z §) (iii) (g §) (iv) (‘—1 §) (v) (i E)
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3. Solve : 15x2— 7 abx — 232b2=0
3ab ab 2ab ab 2ab ab ab 4ab
(i) —- ,0 (i) ——,- (iii) ——,- (iv) ——, 2ab (v) ,
5 7 5 5 3 3 5 3
(x=4) (x=5)_49
4. SOIVe'(X—2)+(X+6)_65
(i) (10 (ﬂ)) (ii) (6 (ﬁ)) (i) (7 (-4—6)) (iv) (4(£)) (v) (8 (-4—6))
' gy W g ) T g AV R ) V)RS g
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5. Solve: — =

(x=3) (x+3) (x+4)
) 11 1 . 11 1 . Lo 11 1 . 11 1
(i) (-2 —-2-v2641)( +--v2641) (i) (-2 V5—--v2641),(--V5+--v2641)
12 12 12 12 12 12 12 12

Lo, 111 1 ) 11 . 1 . 11 . 1 .
(i) (7= —7=Vv7923), (= +-=v7923) (iv) (= V4—-2-V2641),(-=V4+-—-V20641)
12 12 12 12 12 12 12 12

11 1 11 1 ___ _
(v) (5 —-5V5282),(_- +.v5282)
12 12 12 12
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6. Solve the quadratic equation x— — = 8
X

(i) (12,-3) (i) (12,-2) (iii) (10,-1) (iv) (9,-1) (v) (10,-2)

27
7. Solve the quadratic equation x+ 6=-

X

(i) (5,-11) (ii) (5,-10) (i) (4,-9) (iv) (4,-10) (v) (3,-9)



8. Find the roots of the quadratic equation(x2 —-13x+36)=0

(i) (10,3) (ii) (10,4) (i) (9,4) (iv) (11,3) (v) (11,2)

9. Solve: — - - =- 4
(—x+2) (—x—=5)

(i) 2V3,(=5V3) (i) 2v4,(=5v4) (i) 2,(=5) (iv) 2V5,(=5V5) (v) 2v2,(=5v2)

10. Solve:- + - = — .
(x-4)  (=x-5) (x+2)

(i) (-14-6v12),(-14+6Vv12) (ii) (-14—-6V6),(—14+6V6) (ii) (-14Vv5-6v6),(—14V5+6V6)

(iv) (—14-6v18),(—-14+6Vv18) (v) (—14v4—-6v6),(—14V4+6V6)

11. Solve: - = —
(=x)  (x+5) X

(i) (=1),(=1) (i) 3,3 (i) 1,1 (iv) (=3),(=2) (v) 0,0

_I(x—l) _(2x+1)
12. Solve 'Bx+1) _(7x+6)

(i) (6,-2) (i) (-7,1) (i) (9,1) (iv) (7,-1) (v) (4,-4)

13. Find the roots of the quadratic equation(x2 +8x+7)=0

(i) (2,-10) (i) (0,-7) (iii)) (-1,-7) (iv) (2,-8) (v) (0,-8)

14. Find the roots of the quadratic equation(x2 +4x+4)=0

(i) (1,-3) (i) (1,-4) (i) (-2,-2) (iv) (-1,-3) (v) (-1,-2)

15. Find the roots of the quadratic equation(x2 —-8x+12)=0

(i) (7,1) (i) (8,1) (i) (6,2) (iv) (7,2) (v) (8,-1)

16. Find the discriminant of the quadratic equation(x2 +5x)=0

(i) 25 (ii) 26 (iii) 24 (iv) 22 (v) 28

17 Solve_(15x+2)_(_18x+1)
' "(4x+2)  (5x+1)

(i) (5,0) (i) (4,-1) (i) (-5,0) (iv) (3,-3) (v) (8,3)
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19.
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Find the discriminant of the quadratic equation ()(2 +3x)=0

(i) 12 (ii) 6 (iii) 10 (iv) 9 (v) 8

Solve : 6x2+ abx — 2a2b2=0
ab 3ab 2ab 3ab ab 5ab ab 3ab

(i) —,—ab (i) - ,— (iii) ,— (iv) - ,— (v) ,— ab
6 6 3 8 2 6 3 4

Find the roots of the quadratic equation(12x2 +15x+3)=0

M (53) ) (52) Gid ((C2) v () o (e
| 4,- I 4,- 11 6 - v 6 )= Vv 4 ,-

Solve : 8x2+ 2abx — 3a2b2=0

5ab ab ab ab 3ab ab ab 3ab 3ab
i)y - ,— (i) ——, (iii) — , (iv) ——, (v) — , ab
4 2 2 4 4 2 4 2 2
Solve : : +(X+4)—43
“(x—=4)  (x=2) 15
(i) (62 7) (ii) (60 4) (iii) (54 6) (iv) (14 8) (v) (64 9)
13’ 13° 11° 3 13’

'(x—6) (x—=2) _43
SO|Ve'(x—11)+(x—10)_ 6

(M (22 16) () (22 14) i) (220 10) (v) (2013) (1) (o2 12)
31 33 ' 31 ' 31’ 29

Find the roots of the quadratic equation(42x2 +9x-6)=0
W Gy a Gy oain Gy an G3) @ day
| 9,2 I 9,- 111 7,2 v 7,2 Vv 7,-

Solve : + =- 3
(—x+1) (—x—4)

(i) v2,(—4v2) (ii) v5,(—=4V5) (i) Vv3,(-4v3) (iv) v4,(—4v4d) (v) 1,(—4)



Assignment Key

1) (ii) 2) (ii) 3) (iii) 4) (iii) 5) (i) 6) (iv)
7) (v) 8) (iii) 9) (iii) 10) (ii) 11) (v) 12) (iv)
13) (iii) 14) (iii) 15) (iii) 16) (i) 17) (i) 18) (iv)
19) (ii) 20) (v) 21) (iii) 22) (i) 23) (iv) 24) (iii)
25) (v)
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